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Question No. 1

90 fFafi/eer fr afa W IET F arelr & TH Gl FF 10 hs 7 3§ IR AT &1 T A &aE AT AT
A)200 # B)250 #Y
C)340 # D)150 #r

A train travelling at a speed of 90 km/hr crossed a pole in 10 seconds. Find the length of the train.

A)200 m B)250 m
C)340 m D)150 m
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3610073149&qwer=1)

Question No. 2
Hedihel FY: 7.5 x 7.5 + 37.5 + 2.5 x 2.5
A)60 B)80
C)100 D)30

Evaluate: 7.5 x 7.5+ 37.5+25x 2.5

A)B0 B)80
C)100 D)30
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 2) (objection.aspx?qwr=3610073149&qwer=2)

Question No. 3
ey TR & v g AR VS F AT 5 ¢ 11 F AU F T T IR AST F YW A Jolerw F
%.1350 31T fRear &, ar 9y 71§ AR Fr gar |
A)%.4000 B)¥.3600
C)%.3300 D)%.3400

A sum was divided between two friends: Pooja and Roja in the ratio of 5 : 11. If Roja gets Rs.1350 more than
Pooja, find the sum they shared.
A)Rs.4000 B)Rs.3600



C)Rs.3300 D)Rs.3400
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 3) (objection.aspx?qwr=3610073149&qwer=3)

Question No. 4
39 WA H, UF FYA & 916 o fashd e av §| fasmd a1 gof S arfes ¥7 & Fa@ 39gFRT §| 996 S =
Q<BzKsWfss: LW>KI.S<B
A)dhad fasey | gRome g B)ahadl sy || gRome &1
C)awt forsehd | 3R 1l 31eTaRor & 2l D)ar & frsehy | A1 1| 3eTERoT & B

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically. Statement: S =Q <B 2 K< W Conclusions: . W>KIl.S<B

A)Only conclusion | follows B)Only conclusion Il follows
C)Both conclusions | and I follow D)Either conclusion | or Il follows
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 4) (objection.aspx?qwr=3610073149&qwer=4)

Question No. 5

ar a3t T AT 37 ¥l IR 3AH UTThHA 336 §, A At FEART F T F HAR F Iar @]
A) 11 B)5
C)9 D)6

The sum of two numbers is 37. If their product is 336, then find the difference between the two numbers.

A)11 B)5
C)9 D)6
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3610073149&qwer=5)

Question No. 6

T & P o 3 IR e RufY §2
A)feeelr B)seTer®
C)&Ierenrdr D)gexTdTg

In which of the following cities is Charminar located?

A)Delhi B)Bengaluru
C)Kolkata D)Hyderabad
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3610073149&qwer=6)

_Question No. 7



fArfaf@d SeEsrl # gauEYds 9§ AR A R e goe 1 3o &) AT e, e, g, $AR,
T, SRl AR T FY AR HERT-IHeRT FWE-E, 99691, Rl AR a@eas A, ke ar 3 #, wmeeR
AT F §| YT GaRT Fad T I FEAT A8l ¢, & FR A TMET FEAT G80g W § 3R Ty garg s
¥ AT FA § ) Y, T@AS Y AT A A FR @RI S W@ § AW T f g Serer A i) B, FR& Amr
FAT GHG FAAT gl i) AN NM ST @R AT N, Rehr sr @ & iv) St AT Pa sr @ § 9 & 759
CART IET FA| v) FAR 39 BT Rar A wgRrar w9 vi) Reel e a & weus gar sierer & I
F91| e Pe=faf@a & ¥ sla s

A)37hS T9ATCT B)ra 3R er

C)FAR 3R el D)f#sm 3R $AR

Read the following information carefully and answer the question given below. Seven managers—Shukla,
Mishra, Suresh, Kumar, Raja, Joshi and Naren are to conduct interviews simultaneously, either alone or in
pairs at four different locations—Surat, Chandigarh, Delhi and Lucknow. Only one wants to travel by rail, two
prefer travelling by car and the rest travel by air. i) Shukla is going to Lucknow but neither by car nor by air. ii)
Mishra prefers to travel by car. iii) Neither Joshi nor Naren is going to Delhi. iv) Only those going to Surat
travel by road. v) Kumar will assist his friend Mishra. vi) The two managers who go to Delhi travel by air. Who
among the following go to Delhi?

A)Data inadequate B)Raja and Suresh
C)Kumar and Joshi D)Mishra and Kumar
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 7) (objection.aspx?qwr=3610073149&qwer=7)

Question No. 8
HETCHT aTely ST S Fgl g3 A
AT B)sa# & FIg fashed wdl
C)dRaeT D ECICIC

Where was Mahatma Gandhi born?

A)Surat B)None of the options
C)Porbandar D)Ahmedabad
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3610073149&qwer=8)

Question No. 9

R #, Ul ARGl $HI JTUROT Y ¥ 9T =T
A)TTSes fhersH B)&=TsT
C)USA D)%

In India, the concept-of single citizenship is adopted from-
A)United Kingdom B)Canada
C)USA D)France



Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3610073149&qwer=9)

Question No. 10
afg 54.k3 + 543 + 5.43 = 603.26 §, @ 'K' & AT AT
A)9 B)8
C)5 D)6

If 54.k3 + 543 + 5.43 = 603.26, find the value of 'k'.

A)9 B)8
C)5 D)6
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 10) (objection.aspx?qwr=3610073149&qwer=10)

Question No. 11
s fARad oo 5% affs wwgfe saer W 2 af ¥ v affs owgfa W dw & 78 IR sae
¥.1640 &, oY Feree aard]
A)%.13000 B)%.10000
C)%.16000 D)%.17762

A certain sum of money is invested at 5% Compound Interest, compounded annually, for 2 years. If the
computed interest is Rs.1640, then find the principal.

A)Rs.13000 B)Rs.10000
C)Rs.16000 D)Rs.17762
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3610073149&qwer=11)

Question No. 12



TF B FI F99 UTF IR A FiF @ T BT FF AT @ 7

THiIT ST
AN PR
(1) 2) 3
>~ 1 &
4) (5) (6)
A 32,4556 B. 134625
C. he 2453 D. s ¥ 8 g

Group the given figures into three classes using each figure only

once.
(1) 2 (&)
4 (5) (6)
A 32456 B. |u3 46 25
C. 1,6, 2,4; 5,3 D. |Noneofthese
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 12) (objection.aspx?qwr=3610073149&qwer=12)

Question No. 13

e Qe & gfer ereg w1 3wNT fRAT SITAT 37



A)raisT B) faforasy
C)aew D)glehr

In which game is the term 'Putting’ used?

A)Chess B)Billiards
C)Golf D)Hockey
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 13) (objection.aspx?qwr=3610073149&qwer=13)

Question No. 14
wgw#qﬁﬁwmﬂmamgvﬁn "gg AU Al F FHald T A oot g1 oY TR @ F
it 87

A)TeT/=AT=AT B)®EX

C)ufa D)far

A man, introducing a girl in a party said, "She is the wife of only son of my mother." How is the man related to
the girl?

A)Grandfather B)Father-in-law
C)Husband D)Father
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3610073149&qwer=14)

Question No. 15

3T 39 9T F TR Il AT FhaT &7
A)IE TTeT gl AT B)5 oliex
C)2 #ex D)10 fex

How much water can a camel store in its hump?

A)lt does not store water at all B)5 litres
C)2 litres D)10 litres
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3610073149&qwer=15)

Question No. 16
HleT AT 2qeg A U 1T Foer FF Fa@F FgeW S F QI HM? 917 : Gl o2 iy : ?
A)ater B) %ot
C)drsr D)<

Which word will best complete the relationship given below? Tea : Leaf :: Coffee : ?

A)Plant B)Flower

C)Seed D)Root

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3610073149&qwer=16)



Question No. 17
TUVWXYIRZadaRFagi TIRU RaRa sier e, et @ TR g W, T & s 3k Vv &
Fhelldl qeT {1 X, W &1 981 §1 U, Z 1 g &, TSwar ofad Y &1 Jofp & frcelr Afeend §2
A)4 B)5
C)3 D)6

There are seven persons—T, U, V, W, X, Y and Z. T and U are a married couple, T being the male member.
W is the only son of V, who is the brother of T. X is the sister of W. U is the daughter-in-law of Z, whose
husband is Y. How many female persons are there in the group?

A)4 B)5
C)3 D)6
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3610073149&qwer=17)

Question No. 18
Flerar e A R 1T Hefer F FAOF Q@R adF § QU FWM? G : AT 1 FA : ?
A G B) 3!

C)eafar D)¥Er=T

Which word will best complete the relationship given below? Eye : See :: Ear: ?

A)Hear B)Ring
C)Sound D)Smell
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3610073149&qwer=18)

Question No. 19
39 W #, T FueT R 39 ag AT st e aw §1 3@ st w9 S afde w7 & we e
39GFT ¢ FUT: 1) TO IHT Had ol g1 2) S Fa IR g1 g1 3) Tl o I9F §) A | w2 o
o ¢l §1 1. $& TF0 494 AL §l . TS o g E
A)Faer sy | grelel giar B B)Tefr fasery gRomer |
C)dhaer faswy | 3R sy (1| aRome g D)dac sy |1l qrefeT gar &l

In this question, three statements are given followed by three conclusions. Choose the conclusion(s) which
best fit(s) logically. Statements: 1) Some books are covers. 2) No cover is paper. 3) All pages are papers.
Conclusions: I. No page is cover. Il. Some books are not papers. lll. Some pages are books.

A)Only conclusion | follows B)AIl the conclusions follow
C)Only conclusions | and Il follow D)Only conclusion Il follows
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 19) (objection.aspx?qwr=3610073149&qwer=19)

Question No. 20
AHIA A RET & IFAR, HRT A1 W Foft Scqest A For TS &A7ar 2018 # H IR W TS
gl



A)sTH ¥ PS AreT A8 B)22 GW
C)25 GW D)28 GW

According to Mercom India Research, the total installed capacity of solar power generation of India has
crossed in 2018.

A)None of the options B)22 GW
C)25 GW D)28 GW
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3610073149&qwer=20)

Question No. 21

T WA FT 10% FAD W =91 -1 PR 38 11.5% FA1S W S91 3247 @dl, dF 3.15 Fer JAr Herdi|

WA 1 e qeT v §?
A)¥.950 B)%.1000
C)%.1050 D)%.1100

A radio was sold at 10% profit. Had it been sold at 11.5% profit, the profit would have been Rs.15 more. What
is the cost price of the radio?

A)Rs.950 B)Rs.1000
C)Rs.1050 D)Rs.1100
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 21) (objection.aspx?qwr=3610073149&qwer=21)

Question No. 22

g & aEamsit #r At 20 § 3R 39F Feif &1 AR 160 §, o 3 Qe dEasit F @i iaw Jan]
A)5 B)3
C)12 D)8

If the sum of the two numbers is 20 and the difference of their squares is 160, find the difference of the two

numbers.

A)5 B)3

C)12 D)8

Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 22) (objection.aspx?qwr=3610073149&qwer=22)

Question No. 23



TS T U ThST HIST AMAT g A7 39 99 Uk &g a1 SA1a1 g 5 i@ (X),
(Y) 307 (Z) srtat | fam=m=r 741 2| 39 fFed &1 =24+ &, S A (2)
& [aT AIE g0 & & dgd Aleld aqT gl

-’nﬂ'
X)
00 [s] o 0 O O [o e O O
o O o O O
OO Oo 0 _O O o O (=] QO
P) Q) (R) S
A |p B. |Q
c. R D. |S

A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the
unfolded form of figure (Z).

X)
o O o 0 O O o O O O
o O o o) o]
o O o O O o 0O (o) QO
®) Q (R) ®
A |P B. |Q
C. |[R D. |S
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3610073149&qwer=23)

Question No. 24

FleT T 2Aeg A BT T Faer FF Fa&F g S F G HEM? Feddd © Hfa = F§ - ?



A) TS &t B)emam
C)esit D)ausT

Which word will best complete the relationship given below? Pen : Poet :: Needle : ?

A)Sewing B)Thread
C)Tailor D)Cloth
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3610073149&qwer=24)

Question No. 25
ffaf@a & & A gEer #r gEueigEs 96 R AR RE v wd F oser & 3Rfcar & v
faafaf@a ger afge: () 9 & F7 Fo4w7 Ao F WY FOaF @ (i) 15 3T 2018 Fr 3 25 9§ F HAF
8l (i) WA oleT F YA 50% 3 e fHe gl (iv) 3PSk F gawar g IR AS 3FAER (i) w7
BISF 3T Tl ATt B G FAT 8, AT geTatdt 55% A F W FAARIeR 8, 3HH AT Y IEAET
I SIS ST AfRUl IR P IFHIGER (iii) P BIFH T W AWEST B G FAT 7, AT g GET H
A 45% 3iF o e 8, a 3@ wehem g F @ Smeem 24 adfa gatT 75% 3@t & W U Eaw 8
3R gavT S0ET F 60% 3iF Wrod fHe §1 aF ST A Fgawdr g
A)IFHIGAR HI 37ETET & 91T AT AT AT B)3FHIGar &l yaer fear Ser anfew
C)3FHIgar &l FcllaT =i # @ el =1fge D)3#AIGaR &l YA =Tgl &A1 ST Thall &

Study the following information carefully and answer the question given below. The candidate must: (i) Be at
least a graduate with first class. (ii) Be not more than 25 years as on 15 August 2018. (jiii) Have secured
minimum 50% marks in the entrance test. (iv) Be fluent in English. In case a candidate satisfies all the other
criteria EXCEPT (i), but is a post-graduate with minimum 55% marks, his/her case should be referred to the
Chairman. In case a candidate satisfies all the other criteria EXCEPT (jii), but has got minimum 45% marks in
the entrance test, he/she would be waitlisted. Pratap, 24 years old, is a graduate with 75% marks and
obtained 60% marks in the entrance test. He is fluent in English.

A)The candidate has to be referred to the Chairman  B)The candidate has to be admitted

C)The candidate has to be waitlisted D)The candidate cannot be admitted

Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3610073149&qwer=25)

Question No. 26
TF AT H, 4000 AT ST AT A| IR At F F v 3HNGAR B 40% dre A, o 5 o Adh & gRI?
A)1600 B) 1200
C)1000 D)800

In an election, 4000 votes were polled. If one of the two candidates got 40% votes, then by how many votes
was he defeated?

A)1600 B)1200

C)1000 D)800



Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3610073149&qwer=26)

Question No. 27
ffaf@a & ¥ sl @ & & R 3NfEwr 15T & A=t 2
A)aelt B) &Y
C)AYet B)EHEE]

Which of the following style of paintings is popular in the state of Odisha?

A)Warli B)Kalamezhuthu
C)Madhubani D)Pattachitra
Answer Key : D  Your Response : B (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3610073149&qwer=27)

Question No. 28

ar aean3it AT 40 ¥ AR 3% T T IHR 4 7 AT TEABH F AT qroT
A)11 : 18 B)21 : 19
C)11: 9 D)22 : 9

The sum of two numbers is 40 and their difference is 4. Find the ratio of the two numbers.

A)11:18 B)21:19
C)11:9 D)22:9
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3610073149&qwer=28)

Question No. 29
TS gieror 25 # sar 3w 16 A Glsr §1 59 W 20 A X 10 3 3R et A IHr TEAT T AT B
3T §et A Fo FEwr Ad A
A)20000 B) 18000
C)26000 D)25000

A courtyard 25 m long and 16 m broad is to be paved with bricks of dimensions 20 cm by 10 cm. Find the
total number of bricks required.

A)20000 B)18000
C)26000 D)25000
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 29) (objection.aspx?qwr=3610073149&qwer=29)

Question No. 30



el # @ 37 3T & g7 A A" RBU v Yo w wEd =0

T/ T R 2

?
A B
C D.

Choose from the alternatives the figure that best completes the

pattern given below.

A B
C D.
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 30) (objection.aspx?qwr=3610073149&qwer=30)

Question No. 31

Aol & Q@ Y1 1, 6, 13, 22, 33, ()



A)46 B)45
C)47 D)44

Complete the series. 1, 6, 13, 22, 33, (...)

A)46 B)45
C) 47 D)44
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 31) (objection.aspx?qwr=3610073149&qwer=31)

Question No. 32
IR AR st & Fe agT & Rua &2
A) reTehTdr B)deeig
C)gFss D)seTel®

S

In which of the following cities is Victoria Memorial located?

A)Kolkata B)Chennai
C)Mumbai D)Bengaluru
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3610073149&qwer=32)

Question No. 33
& fhde @S $r 40 Uil 1 ooareh AT 50 I &1 3o Fafed TR 3dh Pelad TR § 172 &
HAF &1 IR o7 & aRET A ger Rar swar & o Aw 38wt @ wa 48 W @ Sar §1 Rend @
3TadH TR AT F
A)174 T&T B)165 &
C)170 & D)172 W&

The batting average for 40 innings of a cricket player is 50 runs. His highest score exceeds his lowest score
by 172 runs. If these two innings are excluded, the average of the remaining 38 innings is 48 runs. Find the
highest score of the player.

A)174 runs B)165 runs
C)170 runs D)172 runs
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 33) (objection.aspx?qwr=3610073149&qwer=33)

Question No. 34

ffaf@a & ¥ Flaar svcaer w78 &2
A)EHAT Yo B)f¥erer &YX
C)3cure; o D)&ar &

Which of the following is NOT an indirect tax?
A)Custom Duty B)Corporation Tax



C)Excise Duty D)Service Tax
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 34) (objection.aspx?qwr=3610073149&qwer=34)

Question No. 35
P SR FRmeesT A gf@or FINAT F 2018 ISSSF favg APaRIT F 50 ey Rea Tt & w@of wes
Strar?
A)IRfAeTe g T B) IR &g
C)3iT ffece D) 3T vl fAURae

Which Indian shooter bagged the gold medal in the 50 m pistol event at the 2018 ISSF World Championship
in South Korea?

A)Gurnihal Singh Garcha B)Gurpreet Singh
C)Ankur Mittal D)Om Prakash Mitharval
Answer Key :D  Your Response : A (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3610073149&qwer=35)

Question No. 36
7 TNMAR HEAT3HT 7 3EaT 20 Bl 597 & Ha9 99 HEAT S’
A)22 B)23
C)20 D)24

The average of 7 consecutive numbers is 20. Find the largest of these numbers.

A)22 B)23
C)20 D)24
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3610073149&qwer=36)

Question No. 37

AR Sfure # ffaf@a & @ Flawr sepede & # Wdufas weledr #r fwaar & awrer # wegufa g@rr
BT R S & w6 §7?

A)3iede 312 B) 3zt 249
C)3teTedie; 352 D)3feie 356

Which of the following Articles of our Constitution relates to the proclamation to be issued by the President in
case of failure of constitutional machinery in a state?

A)Article 312 B)Article 249
C)Article 352 D)Article 356
Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 37) (objection.aspx?qwr=3610073149&qwer=37)

Question No. 38
TSTAHT & UF-fAgIE Heed Fa Jar-fAged & o §2
A)1 a§ B)2 @y
C)6 a¥ D)5 a¥



One-third of Rajya Sabha members retire after every-

A)1 year B)2 years
C)6 years D)5 years
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 38) (objection.aspx?qwr=3610073149&qwer=38)

Question No. 39

ar 9§ TIT A 3R B & 9 Fr gft 185 frelieliet §1 IfX v aw@ #r vg 85 el fr amr @ F F 2 W
T §, a Q@ T 50 fRefvder #r st afa & qU e F v aw #@ 3ifae 100 Bl A anr e e

% F e
A)94 e B)102 s
C)60 s D)75 fAere

The distance between two bus stops, A and B, is 185 km. If a bus takes 2 hours to travel the first 85 km, how
long will the bus take to travel the final 100 km in order to average 50 km/hr for the entire trip?

A)94 minutes B)102 minutes
C)60 minutes D)75 minutes
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3610073149&qwer=39)

Question No. 40
3 THA T F T4l @€ S 9% F R S arer 20% 3R 15% $r gt & e B
A)32% B)17%
C)17.5% D)35%

Find the single discount which is equivalent to two successive discounts of 20% and 15%.

A)32% B)17%
C)17.5% D)35%
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3610073149&qwer=40)

Question No. 41

I IR Aad GH &3t &1 AT 228 §, ar 57 GEAit F F e 99 HE&AT F 94T 9|
A)54 B)56
C)60 D)58

If the sum of four consecutive even numbers is 228, find the largest of these numbers.

A)54 B)56
C)60 D)58
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 41) (objection.aspx?qwr=3610073149&qwer=41)

Question No. 42

IR R A3 7, 4785 + 5874 fo@r SITam §, dr 34 F15 F 9631 & F for@r swwan?



A)9613 B)1396
C)1369 D)1639

If in a certain code, 4785 is written as 5874, then how will 9631 be written in that code?

A)9613 B)1396
C)1369 D)1639
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3610073149&qwer=42)

Question No. 43
frfaf@a ey #t aEusiqEes ¢ 3R AT Re v wa & 3ax & & =i & 99 87 P, 'Q, R,
'S, T, U 3RCW @ W@ 1 F Fe, e, ahe, ), e, A AT SR T & FuS 9e g §l W A F
o, oisfhal €1 g o sy Frel, el 4T Y T & FUS A TEA §U ¥ U, T A wger @ AR o w9
Tee &, el T sY $U3 U gU 1 P A A wg §, Sl SHRr g '\Q' A W A Gge §1 'R, N wg
gU &, STafh SHH T 0T Ad ‘W' T EH 1 'Q' Hledt TT F FU3 96 gU 2
INEGIED B)dthe,

S

C)gxr D)sT

N

Read the following information carefully and answer the question given below. 'P', 'Q', 'R', 'S', 'T", 'U' and 'W'
are seven students playing in a garden. They are wearing clothes of black, blue, white, green, pink, yellow
and brown colours. Out of seven, three are girls. No girl is wearing black, yellow, or brown. 'U' is the sister of
T' and is wearing pink, while 'T' is wearing brown. 'P' is wearing blue, while his sister 'Q' is not wearing green.
'R' is wearing yellow, while his best friend 'W' is a boy. What colour of cloth is 'Q' wearing?

A)Pink B)White
C)Green D)Brown
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 43) (objection.aspx?qwr=3610073149&qwer=43)

Question No. 44
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Dronacharya Award is given to-

A)Students B)Sports Coaches
C)Teachers D)National Champions
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3610073149&qwer=44)

Question No. 45
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AT afad veer
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The President of India is elected by-
A)Elected members of Parliament, State AssembliesB)Elected members of State Assemblies only
and Union Territories
C)Elected members of Parliament only D)None of the options
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 45) (objection.aspx?qwr=3610073149&qwer=45)

Question No. 46

I HT el

A)KNSZ B)MPSV

C)BEJQ D)DGLS

Find the ODD one out.

A)KNSZ B)MPSV

C)BEJQ D)DGLS

Answer Key : B Your Response : Not Answered Raise Objection(Question No. 46) (objection.aspx?qwr=3610073149&qwer=46)
Question No. 47
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Sphygmomanometer is used for the measurement of-

A)Hypertension B)Body temperature
C)Heart beat D)Blood pressure
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 47) (objection.aspx?qwr=3610073149&qwer=47)

Question No. 48
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Four different positions of the same dice are shown below. Find the
number on the face opposite to that contains 1.

A |2 B. |4
C. |6 D. |Noneof these
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3610073149&qwer=48)

Question No. 49
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173213635 105944495
494 1591 193652069 123461815 220478
494 1935 216372215 119904315 238244
520 2369 24900334 152724611 2673535
518 2034 274094483 151536802 342644
042 2439 321174327 194263915 358208

)

2009 D 2011

Study the following table and answer the question given below it.
The following table represents the general election facts at a glance over the
years.

Years Elective seats Candidates Electorate Votes polled  Polling stations

2007 489 1864 173213635 | 105694449 196084
2008 494 1591 193652069 | 123461815 220478
2009 494 1985 216372215 | 119904315 238244
2010 520 2369 249003334 | 152724611 267555
2011 518 2984 274094493 | 151536802 342944
2012 042 2439 021174327 | 194263915 38208

In which of the following general elections was the total number of
candidates the lowest?

A 2007 B. [2008
C. 2009 D 2011
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3610073149&qwer=49)

Question No. 50
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Which of the following is the maximum component of air?

A)Carbon dioxide B)Nitrogen
C)Oxygen D)Hydrogen
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 50) (objection.aspx?qwr=3610073149&qwer=50)

Question No. 51
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

A @ B_.®
S o

Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3610073149&qwer=51)

Question No. 52
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Hampi, famous for historical ruins, is situated at-

A)Karnataka B)Andhra Pradesh
C)Tamil Nadu D)Maharashtra
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3610073149&qwer=52)

Question No. 53
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In which of the following states is the Statue of Unity located?

A)West Bengal B)Karnataka
C)Gujarat D)Assam
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3610073149&qwer=53)

Question No. 54
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A)anerad
C)Fsom

B)=Ta¥er
D)radr

Which of the following rivers flows into the Arabian sea?

A)Godavari
C)Krishna

Answer Key : B Your Response : B (Correct)

B)Narmada
D)Cauvery
Raise Objection(Question No. 54) (objection.aspx?qwr=3610073149&qwer=54)

Question No. 55

fef@a & @ i Faled F ada@w= T §7

A)TSTETS TEHTS aTell
C)Fifa=rer agsar

B)&H U< HAREaNT
D)z & $IS AheT o8l

Who among the following is the present Governor of Karnataka?

A)Vajubhai Rudabhai Vala
C)Konijeti Rosaiah

Answer Key: A Your Response : A (Correct)

3T FY G|
A)84,59
C)63,38

Find the ODD one out.
A)84, 59
C)63, 38

Answer Key: B Your Response : B (Correct)

B)Hans Raj Bhardwaj
D)None of the options
Raise Objection(Question No. 55) (objection.aspx?qwr=3610073149&qwer=55)

Question No. 56

B)73,43
D)105,80

B)73, 43
D)105, 80
Raise Objection(Question No. 56) (objection.aspx?qwr=3610073149&qwer=56)

Question No. 57
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Choose from the alternatives the figure that best completes the
pattern given below.

A
A AN

C. g AN D. ‘Uﬂ

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3610073149&qwer=57)

Question No. 58
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Answer Key : B Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3610073149&qwer=58)

Question No. 59
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A)¥.8000 B)%.6250

C)%.7250 D)%.7000

The difference between the Simple Interest and Compound Interest for 2 years on a certain sum at the rate of
5% per annum is Rs.20. Find the sum.

A)Rs.8000 B)Rs.6250
C)Rs.7250 D)Rs.7000
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3610073149&qwer=59)

Question No. 60
T a] T $.960 F qURT 38 W AT Gfrera 16T 20% ATl aFg FT AR Feg FT AT?
A)¥.700 B)%.730
C)%.750 D)%.800

The percentage profit earned on an article by selling it at Rs.960 was 20%. What was the cost price of the
article?

A)Rs.700 B)Rs.730

C)Rs.750 D)Rs.800

Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 60) (objection.aspx?qwr=3610073149&qwer=60)





